ETRIAOZF (SFEAN) SH6E1281AEE

BT £ 5 3 it BT £ 5 3 it
B ZEET 0 0 0 |[JTHT 15 17 32
KIZHT 172 185 357 |=HT 2 9 11
5T 6 14 20 ||fEn==HT 39 30 69
=0T 276 303 579 (= R HET 12 5 17
=AdaE 78 82 160 (|#KHET 16 19 35
S BT 5 7 12 |AEHT 3 8 11
= ] BT 85 85 170 |3 ILHET 8 12 20
FFHET 0 2 2 |fr EET 11 9 20
JKATET 41 43 84 (#u[RHET 7 6 13
;A EHHET 8 19 27 |EHT 8 20 28
YR A< BT 0 0 0 ||5<HT 31 27 58
4/ SERET 5 16 21 |[+8[RET 1 0 1
FF+EET 13 11 24 P & ET 251 273 524
HH R HET 10 4 14 (7G58 /T 0 1 1
SE ARET 13 22 35 |[fA R HET 196 147 343
Y A BT 0 4 4 ||FE SHT 92 79 171
HHHET 3 1 4 /T 0 0 0
J\BEHT 7 27 34 |—&HT 2 5 7
FREAET 8 13 21 |& /T 35 50 85
AHT 8 8 16 (fiZ/RHET 207 260 467
L AHT 0 1 1 |G ;EET 37 55 92
h SR HT 5 7 12| & F 1,716 1,886 3,602




